Nonlinear Functional Analysis and Applications Vol. 23, No. 1 (2018), pp. 49-61 ISSN: 1229-1595(print), 2466-0973(online)

http://nfaa.kyungnam.ac.kr/journal-nfaa Copyright © 2018 Kyungnam University Press



HARMONIC INVEX SETS AND GENERALIZED HARMONIC VARIATIONAL INEQUALITY PROBLEMS

S. N. Mishra¹, P. K. Das² and G. C. Nayak³

¹Department of Mathematics, School of Applied Sciences KIIT University, Bhubaneswar-751024, India e-mail: snmishra000@gmail.com

²Department of Mathematics, School of Applied Sciences KIIT University, Bhubaneswar-751024, India e-mail: dasprasantkumar@yahoo.co.in

³Department of Mathematics, Govt. Junior College Phulbani, Kandhamal-762001, India e-mail: girishchn@gmail.com

Abstract. In this paper, we have defined various type of generalized harmonic variational inequality problems in harmonic invex set and studied their existence theorems under certain conditions.

1. INTRODUCTION

In 2014, Insan [5] has introduced the concept of harmonically convex set and harmonically convex functions and has studied the Hermite-Hadamard type inequalities for harmonically convex functions as an extension work of Hermite-Hadamard inequalities. We recall the concepts of harmonic sets and harmonic convex function introduced by Insan [5].

Definition 1.1. ([5]) Let $K \subset \mathbb{R} \setminus \{0\}$ be any set and $f : K \to \mathbb{R}$ be any map.

⁰Received April 18, 2017. Revised September 21, 2017.

⁰2010 Mathematics Subject Classification: 26A51, 26B25, 52A41, 26D15.

⁰Keywords: Harmonic invex set, harmonic invex function, generalized harmonic variational inequality problems.

⁰Corresponding author: P.K. Das(dasprasantkumar@yahoo.co.in).

(1) K is said to be harmonically convex set if

$$\frac{xy}{tx + (1-t)y} \in K$$

- for all $x, y \in K$ and $t \in [0, 1]$,
- (2) f is said to be harmonically convex function on the harmonically convex set K if

$$f\left(\frac{xy}{tx+(1-t)y}\right) \le tf(y) + (1-t)f(x)$$

for all $x, y \in K$ and $t \in [0, 1]$.

2. Generalized harmonic variational inequality problems

Let X be a topological vector space in a separable Banach space. Let $K \subset X \setminus \{0\}$ be any set. For $y = (y_1, y_2, \cdots) \in K$ and $v = (v_1, v_2, \cdots) \in X$, let

$$K(v) = \{y + tv: x, y \in K, t \in [0, 1]\}$$

be a nonempty set in X. Let

$$\begin{aligned} \Pi^{2}(K) &= K \circ K \\ &= \{xy = (x_{1}y_{1}, x_{2}y_{2}, \cdots) : x = (x_{1}, x_{2}, \cdots), y = (y_{1}, y_{2}, \cdots) \in K\}, \\ \frac{1}{K} &= \left\{\frac{1}{x} : \frac{1}{x} = \left(\frac{1}{x_{1}}, \frac{1}{x_{2}}, \cdots\right), x = (x_{1}, x_{2}, \cdots) \in K\right\}, \\ \Pi^{2}(K; W) &= \frac{K \circ K}{W} = \left\{\frac{xy}{w} : x, y \in K, \ w \in K, \ t \in [0, 1]\right\} \end{aligned}$$

be the subspaces of X. For $x, y \in K$, let I[y, x] be a path joining y and x contained in K and the map $\gamma_{xy} : [0,1] \to I[y,x]$ be continuous. The set K has the invariant harmonic convex (IHC) combination property in a given direction $v \in X$ if the following are satisfied:

(P1) for all $t \in [0, 1]$, $v \in X$ and $y \in K$,

$$y + tv = (y_1 + tv_1, y_2 + tv_2, \cdots) \in K,$$

(P2) for all $x, y \in K$ and v = v(x, y), we have

$$\frac{xy}{y+tv} = \left(\frac{x_1y_1}{y_1+tv_1}, \frac{x_2y_2}{y_2+tv_2}, \cdots\right) \in I[y, x] = \Pi^2(K; K(v)) \subset K$$

if and only if

$$\frac{y+tv}{xy} = \left(\frac{y_1+tv_1}{x_1y_1}, \frac{y_2+tv_2}{x_2y_2}, \cdots\right) \in I\left[\frac{1}{x}, \frac{1}{y}\right] \subset \frac{1}{K}.$$

For our need, we make the concept of harmonically η -Lipschitz continuous functions.

Definition 2.1. Let $F: K \to \mathbb{R} \setminus \{0\}$ be any mapping. For each $y \in K$, the set of harmonically η -Lipschitz continuous functions $LC_F(y)$ and $LC_F(1/y)$ are defined by

$$LC_{F}(y) = \left\{ x \in K \setminus \{0\} : |F(x) - F(y)| \\ \leq L_{1} \max \left\{ \left\| \eta(x, y) \right\|, \left\| \frac{xy}{\eta(x, y)} \right\| \right\} \right\}$$

and

$$LC_{F}(1/y) = \left\{ x \in K \setminus \{0\} : \left| F\left(\frac{1}{y}\right) - F\left(\frac{1}{x}\right) \right| \le L_{2} \max\left\{ \left\| \eta(x, y) \right\|, \left\| \frac{xy}{\eta(x, y)} \right\| \right\} \right\}$$

respectively where L_1 and L_2 are the Lipschitz constants.

Let $\eta: K \times K \to X$ be any map. Let $F: K \setminus \{0\} \to \mathbb{R} \setminus \{0\}$ be harmonically η -Lipschitz continuous near each $y \in K \setminus \{0\}$. For any nonlinear map $T: K \to X^*$, the pairing $\langle T(y), z \rangle$ is defined by

$$\langle T(y), z \rangle = \sum_{i} \langle T(y_i), z_i \rangle$$

for all $z \in X, y \in K$.

The generalized harmonic variational inequalities are defined as follows:

(a) The generalized harmonic variational inequality problem (GHVIP) is to find: $y \in K$ such that

$$\left\langle T(y), \frac{xy}{\eta(x,y)} \right\rangle \ge 0 \quad \text{for all } x \in K.$$
 (GHVIP)

(b) The generalized dual harmonic variational inequality problem (GDHVIP) is to find: $y \in K$ such that

$$\left\langle T(x), \frac{xy}{\eta(y, x)} \right\rangle \le 0 \quad \text{for all } x \in K.$$
 (GDHVIP)

(c) The generalized harmonic complementarity problem (GHCP) is to find: $y \in K$ such that

$$\left\langle T(x), \frac{yy}{\eta(y, x)} \right\rangle = 0 \quad \text{for all } x \in K.$$
 (GHCP)

In this section, we have studied the existence theorems of the above problems under certain conditions. For our need, we make the definition of invariant harmonically convex function in the invariant harmonic convex set K.

Definition 2.2. Let $K \subset \mathbb{R} \setminus \{0\}$ be any set and $f : K \to \mathbb{R}$ be any map.

- (1) K is said to be an *IHC* set given in the direction $v \in \mathbb{R} \setminus \{0\}$ if K has the IHC combination properties P_1 and P_2 .
- (2) f is said to be an invariant harmonically convex (IHC) function on the IHC set K if

$$f\left(\frac{xy}{y+tv}\right) \le tf(y) + (1-t)f(x) \tag{2.1}$$

for all $x, y \in K, t \in [0, 1]$.

Definition 2.3. Let $\eta: K \times K \to X$ be any map.

(1) The set K is said to be η -invex if $y + t\eta(x, y) \in K$ for all $x, y \in K$ and $t \in [0, 1]$, *i.e.*,

$$K(\eta) = \{ y + t\eta(x, y) \in K : x, y \in K, t \in [0, 1] \}$$

 η -invex set,

(2) The kernel of K is defined by

$$Ker(K(\eta)) = \{ y \in K : y + t\eta(x, y) \in K(\eta), x \in K, t \in [0, 1] \}.$$

For our need, we define the concept of harmonic η -invex set and orthonormal η -invex set as follows:

Definition 2.4. Let $\eta: K \times K \to X$ be any map. The set K is said to be

(1) a harmonic η -invex set if for all $x, y \in K$ and $t \in [0, 1]$,

$$y + t\eta(x, y) \in K \iff \frac{xy}{y + t\eta(x, y)} = \left(\frac{y + t\eta(x, y)}{xy}\right)^{-1}$$
$$= \left(\frac{1}{x} + t\frac{\eta(x, y)}{xy}\right)^{-1} \in K_{2}$$

(2) an orthonormal harmonic η -invex set if K is harmonic η -invex set and there exists an orthonormal basis $B \subset K$ such that each $z \in K$ can be written as $z = \sum_{b \in B} \langle z, b \rangle b$ with norm $||z||^2 = \sum_{b \in B} |\langle z, b \rangle|^2$ and for each $y \in K$ and $t \in [0, 1]$,

$$y + t\eta(x, y) \in K \iff \frac{1}{y + t\eta(x, y)} \in K$$
 for all $x \in A(y) = \{v \in K : vy = 1\}.$

As an extension, we introduce the concept of harmonically pre η -invex (incave) function associated with $\lambda(t)$ on harmonic η -invex set where the mapping $\lambda : [0, 1] \to \mathbb{R}_+$ satisfies the condition

$$\lim_{t\to 0}\lambda(t)=0 \quad \text{and} \quad \ \lim_{t\to 0}\frac{\lambda(t)}{t}=1.$$

Definition 2.5. Let $F: K \to \mathbb{R} \setminus \{0\}$ be any map. The mapping F is said to be

(1) harmonically pre η -invex (incave) on harmonic η -invex set K associated with $\lambda(t)$ (defined above) if

$$F\left(\frac{xy}{y+t\eta(x,y)}\right) \ge (\le)\lambda(t)F(y) + (1-\lambda(t))F(x)$$

for all $x, y \in K$, and $t \in [0, 1]$,

(2) harmonically pre η -invex (incave) on orthonormal harmonic η -invex set K if

$$F\left(\frac{1}{y+t\eta(x,y)}\right) \ge (\le)tF(y) + (1-t)F(x)$$

for all $x \in A(y)$, $y \in K$ and $t \in [0, 1]$.

For strict case, the symbol $\geq (\leq)$ is to be replaced by > (<).

Definition 2.6. The mapping $T: K \to X^*$ is said to be

(1) harmonically η -monotone on $K(\eta)$ if

$$\left\langle T(x), \frac{xy}{\eta(y,x)} \right\rangle + \left\langle T(y), \frac{xy}{\eta(x,y)} \right\rangle \le 0$$

for all $x, y \in K(\eta)$. For strictly harmonically η -monotonicity case, equality holds in the above equation for x = y only,

(2) harmonically η -monotone at $y \in K(\eta)$ if

$$\left\langle T(x), \frac{xy}{\eta(y, x)} \right\rangle + \left\langle T(y), \frac{xy}{\eta(x, y)} \right\rangle \le 0$$

for all $x \in K(\eta)$.

Definition 2.7. The mapping $T: K \to X^*$ is said to be

(1) generalized harmonically η -monotone on $K(\eta)$ if

$$\left\langle T(x) - T(y), \frac{xy}{\eta(x,y)} \right\rangle \ge 0$$

for all $x, y \in K(\eta)$. For strictly generalized harmonically η -monotonicity case, equality holds in the above equation for x = y only,

(2) generalized harmonically η -monotone at $y \in K(\eta)$ if

$$\left\langle T(x) - T(y), \frac{xy}{\eta(x,y)} \right\rangle \ge 0$$

for all $x \in K(\eta)$.

If $\eta(y, x) = -\eta(x, y)$, then harmonically η -monotonicity property of T reduces to generalized harmonically η -monotonicity property of T.

Definition 2.8. The mapping $T : K \to X^*$ is said to be a harmonic pre- η -invex function on $K_h(\eta)$ if for all x, y, and $x_t = y + t\eta(x, y) \in K(\eta)$, we have

$$\left\langle T(x_t), \frac{x_t y}{\eta(x_t, x_t)} \right\rangle \le (1 - \lambda(t)) \left\langle T(x), \frac{x y}{\eta(y, x)} \right\rangle + \lambda(t) \left\langle T(y), \frac{x y}{\eta(x, y)} \right\rangle,$$

where the mapping $\lambda : [0,1] \to \mathbb{R}_+$ satisfies the condition

$$\lim_{t \to 0} \lambda(t) = 0 \text{ and } \lim_{t \to 0} \frac{\lambda(t)}{t} = 1.$$

Definition 2.9. Let $K \subset \mathbb{R} \setminus \{0\}$ be a nonempty set and $F : K \to \mathbb{R} \setminus \{0\}$ be a map. The point $y \in K$ is said to be

- (1) minimum point of F if $F(x) \ge F(y)$ for all $x \in K$,
- (2) maximum point of F if $F(x) \leq F(y)$ for all $x \in K$.

Theorem 2.10. Let $\eta : K \times K \to X$ be any map and $K(\eta) \subset K \subset X$ be a harmonically η -invex set. If the mapping $T : K \to X^*$ is harmonically η monotone on $K(\eta)$ and $y \in K(\eta)$ solves the problem (GHVIP), then $y \in K(\eta)$ solves the problem (GDHVIP).

Proof. Since $y \in K(\eta)$ solves the problem (GHVIP), we have

$$\left\langle T(y), \frac{xy}{\eta(x,y)} \right\rangle \geq 0$$

for all $x \in K(\eta)$. We have T is harmonically η -monotone on $K(\eta)$, implying T is harmonically η -monotone at $y \in K(\eta)$, *i.e.*,

$$\left\langle T(x), \frac{xy}{\eta(y,x)} \right\rangle + \left\langle T(y), \frac{xy}{\eta(x,y)} \right\rangle \le 0$$

for all $x \in K(\eta)$, *i.e.*,

$$\left\langle T(x), \frac{xy}{\eta(y,x)} \right\rangle = \left\langle T(y), \frac{xy}{\eta(x,y)} \right\rangle$$

 ≤ 0

for all $x \in K(\eta)$. This means that $y \in K(\eta)$ solves the problem (GDHVIP). This completes the proof.

Theorem 2.11. Let $\eta : K \times K \to X$ be a map and $K(\eta) \subset K \subset X$ be a harmonically η -invex set. Assume that the following conditions hold:

(a) For all $x, y \in K(\eta)$,

$$\left\langle T(x), \frac{xy}{\eta(x,x)} \right\rangle = 0,$$

(b) The mapping $T: K \to X^*$ is harmonic pre- η -invex function on $K(\eta)$. If $y \in K(\eta)$ solves the problem (GDHVIP), then $y \in K(\eta)$ solves the problem (GHVIP).

Proof. Since $y \in K(\eta)$ solves the problem (GDHVIP), we have

$$\left\langle T(x), \frac{xy}{\eta(y,x)} \right\rangle \le 0$$

for all $x \in K(\eta)$. Now at $y \in K(\eta)$, we have

$$\left\langle T(x_t), \frac{x_t y}{\eta(x_t, x_t)} \right\rangle = 0$$

for all x, y, and $x_t = y + t\eta(x, y) \in K(\eta)$. By harmonic pre- η -invexity of T on $K_h(\eta)$, we have

$$0 = \left\langle T(x_t), \frac{x_t y}{\eta(x_t, x_t)} \right\rangle$$

$$\leq (1 - \lambda(t)) \left\langle T(x), \frac{xy}{\eta(y, x)} \right\rangle + \lambda(t) \left\langle T(y), \frac{xy}{\eta(x, y)} \right\rangle$$

for all $x \in K(\eta)$, *i.e.*,

$$\begin{array}{ll} \lambda(t)\left\langle T(y),\frac{xy}{\eta(x,y)}\right\rangle &=& -(1-\lambda(t))\left\langle T(x),\frac{xy}{\eta(y,x)}\right\rangle\\ &\geq& 0 \end{array}$$

for all $x \in K(\eta)$ and $t \in (0, 1]$. Thus, we have

$$\left\langle T(y), \frac{xy}{\eta(x,y)} \right\rangle \ge 0$$

for all $x \in K(\eta)$, that is, $y \in K(\eta)$ solves the problem (GHVIP). This completes the proof.

Definition 2.12. Let X be a topological vector space and K be a nonempty subset of X. A vector function $\eta: K \times K \to X$ is said to satisfy the *condition* C_0 if the followings hold:

S. N. Mishra, P. K. Das and G. C. Nayak

- (1) $\eta(z, x') + \eta(x', z) = 0$, where $z = x' + \eta(x, x')$,
- (2) $\eta(x' + t\eta(x, x'), x') + t\eta(x, x') = 0, \quad \forall x, x' \in K \text{ and } \forall t \in (0, 1).$

Theorem 2.13. Let $\eta : K \times K \to X$ be any map satisfying condition C_0 and $K(\eta) \subset K \subset X$ be a harmonically η -invex set. Assume that

- (a) $T: K \to X^*$ is a harmonically η -monotone mapping on $K(\eta)$,
- (b) the map $y \mapsto \langle T(y), \frac{xy}{\eta(x,y)} \rangle$ of K into L(X,Y) is continuous on the finite dimensional subspaces (or at least hemicontinuous).

If $y \in K(\eta)$ solves the problem (GHVIP), then $y \in K(\eta)$ solves the problem (GHCP).

Proof. Since $y \in K(\eta)$ solves the problem (GHVIP), we have

$$\left\langle T(y), \frac{xy}{\eta(x,y)} \right\rangle \ge 0$$

for all $x \in K(\eta)$. Since η satisfies condition C_0 , we have $\eta(x_t, y) = -t\eta(x, y)$ for $x_t = y + t\eta(x, y) \in K(\eta)$. Substituting x by x_t in the above inequality and using condition C_0 , we get

$$\left\langle T(y), \frac{x_t y}{\eta(x_t, y)} \right\rangle \ge 0,$$

that is,

$$-t\left\langle T(y), \frac{x_t y}{\eta(x, y)}\right\rangle \ge 0$$

implying

$$\left\langle T(y), \frac{x_t y}{\eta(x, y)} \right\rangle \le 0,$$

for all $x \in K(\eta)$. Taking limit as $t \to 0$ and using the condition of hemicontinuity, we have

$$\left\langle T(y), \frac{yy}{\eta(x,y)} \right\rangle \le 0,$$

for all $x \in K(\eta)$. Again substituting x by x_t in the above inequality and using condition C_0 , we get

$$\left\langle T(y), \frac{yy}{\eta(x,y)} \right\rangle \ge 0,$$

for all $x \in K(\eta)$. Thus, we have

$$\left\langle T(y), \frac{yy}{\eta(x,y)} \right\rangle = 0,$$

for all $x \in K(\eta)$, that is, $y \in K(\eta)$ solves the problem GHCP. This completes the proof.

3. Generalized F-harmonic variational inequalities

Let $F : K \to \mathbb{R} \setminus \{0\}$ be harmonically η -Lipschitz continuous near each $y \in K$. For any nonlinear map $T : K \to X^*$, the generalized harmonic variational inequalities are defined as follows:

(a) The generalized harmonic variational inequality problem associated with F (GHVIP_F) is to find: $y \in K$ such that

$$\left\langle T(y), \frac{xy}{\eta(x,y)} \right\rangle + F(x) - F(y) \ge 0 \text{ for all } x \in K.$$
 (GHVIP_F)

(b) The generalized dual harmonic variational inequality problem associated with F (GDHVIP_F) is to find: $y \in K$ such that

$$\left\langle T(x), \frac{xy}{\eta(y,x)} \right\rangle + F(x) - F(y) \le 0 \text{ for all } x \in K.$$
 (GDHVIP_F)

(c) The generalized harmonic variational inequality problem associated with ξ (GHVIP_{ξ}) is to find: $y \in K \setminus \{0\}$ such that $\xi \in \partial F(y)$ and

$$\left\langle T(y), \frac{xy}{\eta(x,y)} \right\rangle + \left\langle \xi, \eta(x,y) \right\rangle \ge 0 \text{ for all } x \in K.$$
 (GHVIP _{ξ})

(d) The generalized dual harmonic variational inequality problem associated with ξ (GDHVIP_{ξ}) is to find: $y \in K$ such that $\xi \in \partial F(y)$ and

$$\left\langle T(x), \frac{xy}{\eta(y, x)} \right\rangle + \left\langle \xi, \eta(y, x) \right\rangle \ge 0 \text{ for all } x \in K.$$
 (GDHVIP _{ξ})

The following theorems proves the equivalence between the problems GHVIP_F and GDHVIP_F , GHVIP_F and GHVIP_{ξ} .

Theorem 3.1. Let $\eta : K \times K \to X$ be a map and $K(\eta) \subset K \subset X$ be a harmonically η -invex set. Let $F : K \to \mathbb{R}$ and $T : K \to X^*$ be two mappings. Let T be harmonically η -monotone on $K(\eta)$ and $y \in K(\eta)$ be a maximal point of F. If $y \in K(\eta)$ solves the problem $GHVIP_F$, then $y \in K(\eta)$ solves the problem $GDHVIP_F$.

Proof. Since $y \in K(\eta)$ is the maximal point of F, we have

$$F(x) - F(y) \le 0$$

for all $x \in K(\eta)$. Since T is harmonically η -monotone on $K(\eta)$, T is harmonically η -monotone at $y \in K(\eta)$, that is,

$$\left\langle T(x), \frac{xy}{\eta(y,x)} \right\rangle + \left\langle T(y), \frac{xy}{\eta(x,y)} \right\rangle \le 0$$

for all $x \in K(\eta)$. Hence we have

$$\left\langle T(x), \frac{xy}{\eta(y,x)} \right\rangle + \left\langle T(y), \frac{xy}{\eta(x,y)} \right\rangle + 2\left[F(x) - F(y)\right] \le 0$$

for all $x \in K(\eta)$, that is,

$$\left\langle T(y), \frac{xy}{\eta(x,y)} \right\rangle + F(x) - F(y) \le -\left\langle T(x), \frac{xy}{\eta(y,x)} \right\rangle - F(x) + F(y)$$

for all $x \in K(\eta)$. Since $y \in K(\eta)$ solves the problem GHVIP_F, we have

$$\left\langle T(y), \frac{xy}{\eta(x,y)} \right\rangle + F(x) - F(y) \ge 0$$

for all $x \in K(\eta)$, this implies that

$$-\left\langle T(x), \frac{xy}{\eta(y,x)}\right\rangle - F(x) + F(y) \ge 0$$

for all $x \in K(\eta)$. That is,

$$\left\langle T(x), \frac{xy}{\eta(y,x)} \right\rangle + F(x) - F(y) \le 0$$

for all $x \in K(\eta)$. This means that $y \in K(\eta)$ solves the problem GDHVIP_F . This completes the proof.

Theorem 3.2. Let $\eta : K \times K \to X$ be a map and $K(\eta) \subset K \subset X$ be a harmonically η -invex set. Assume that the conditions hold:

(a) For all $x, y \in K(\eta)$,

$$\left\langle T(x), \frac{xy}{\eta(x,x)} \right\rangle = 0.$$

(b) The mapping $T: K \to X^*$ is harmonic pre- η -invex on $K(\eta)$.

If $y \in K(\eta)$ is the minimum point of F which solves the problem $GDHVIP_F$, then $y \in K(\eta)$ solves the problem $GHVIP_F$.

Proof. Since $y \in K(\eta)$ is the minimum point of F, we have

$$F(x) - F(y) \ge 0$$

for all $x \in K(\eta)$. Again $y \in K(\eta)$ solves the problem GDHVIP_F, *i.e.*,

$$\left\langle T(x), \frac{xy}{\eta(y,x)} \right\rangle + F(x) - F(y) \le 0$$

for all $x \in K(\eta)$. Now at $y \in K(\eta)$, we have

$$\left\langle T(x_t), \frac{x_t y}{\eta(x_t, x_t)} \right\rangle = 0$$

for all x, y, and $x_t = y + t\eta(x, y) \in K(\eta)$. By harmonic pre- η -invexity of T on $K(\eta)$, we have

$$0 = \left\langle T(x_t), \frac{x_t y}{\eta(x_t, x_t)} \right\rangle$$

$$\leq \left\langle T(x_t), \frac{x_t y}{\eta(x_t, x_t)} \right\rangle + F(x) - F(y)$$

$$\leq (1 - \lambda(t)) \left\langle T(x), \frac{xy}{\eta(y, x)} \right\rangle + \lambda(t) \left\langle T(y), \frac{xy}{\eta(x, y)} \right\rangle + F(x) - F(y)$$

$$= (1 - \lambda(t)) \left[\left\langle T(x), \frac{xy}{\eta(y, x)} \right\rangle + F(x) - F(y) \right]$$

$$+ \lambda(t) \left[\left\langle T(y), \frac{xy}{\eta(x, y)} \right\rangle + F(x) - F(y) \right]$$

for all $x \in K(\eta)$, that is,

$$\lambda(t) \left[\left\langle T(y), \frac{xy}{\eta(x, y)} \right\rangle + F(x) - F(y) \right] \\ = -(1 - \lambda(t)) \left[\left\langle T(x), \frac{xy}{\eta(y, x)} \right\rangle + F(x) - F(y) \right] \\ \ge 0$$

for all $x \in K(\eta)$ and $t \in (0, 1]$. Thus, we have

$$\left\langle T(y), \frac{xy}{\eta(x,y)} \right\rangle + F(x) - F(y) \ge 0$$

for all $x \in K(\eta)$. This means that $y \in K(\eta)$ solves the problem GHVIP_F. This completes the proof.

Theorem 3.3. Let $\eta : K \times K \to X$ be a map and $K(\eta) \subset K \subset X$ be a harmonically η -invex set. Let $F : K \to \mathbb{R}$ be a mapping and $T : K \to X^*$ be a mapping with the condition:

$$\left\langle T(y), \frac{x_t y}{\eta(x_t, y)} \right\rangle \le \left\langle T(y), \frac{\lambda(t) x y}{\eta(x, y)} \right\rangle$$

for all $x_t \in K(\eta)$, $t \in [0,1]$. If $y \in K(\eta)$ solves the problem $GHVIP_F$, then $y \in K(\eta)$ solves the problem $GHVIP_{\xi}$.

Proof. Since $y \in K(\eta)$ solves the problem GHVIP_F, we have

$$\left\langle T(y), \frac{xy}{\eta(x,y)} \right\rangle + F(x) - F(y) \ge 0$$

for all $x \in K(\eta)$, *i.e.*,

$$F(x) - F(y) \ge -\left\langle T(y), \frac{xy}{\eta(x,y)} \right\rangle$$

for all $x \in K(\eta)$. Replacing x by $x_t = y + t\eta(x, y)$, we have

$$F(x_t) - F(y) \geq -\left\langle T(y), \frac{x_t y}{\eta(x_t, y)} \right\rangle$$
$$= -\left\langle T(y), \frac{\lambda(t) x y}{\eta(x, y)} \right\rangle,$$
$$F(y + t\eta(x, y)) - F(y) \geq -\lambda(t) \left\langle T(y), \frac{x y}{\eta(x, y)} \right\rangle$$

for all $x \in K(\eta)$ and $t \in (0, 1)$. Dividing both sides by $\lambda(t)$ and taking limit as $t \to 0$, we have

$$\langle \xi, \eta(x,y) \rangle \ge - \left\langle T(y), \frac{xy}{\eta(x,y)} \right\rangle$$

for all $x \in K(\eta)$ and $\xi \in \partial F(y)$ (the subdifferential of F at y). Thus

$$\left\langle T(y), \frac{xy}{\eta(x,y)} \right\rangle + \left\langle \xi, \eta(x,y) \right\rangle \ge 0$$

for all $x \in K(\eta)$, that is, $y \in K(\eta)$ solves the problem $\operatorname{GHVIP}_{\xi}$. This completes the proof.

Theorem 3.4. Let $\eta : K \times K \to X$ be a map and $K(\eta) \subset K \subset X$ be a harmonically η -invex set. Let $F : K \to \mathbb{R}$ be a nonsmooth ξ - η mapping on $K(\eta)$. Let $T : K \to X^*$ be any mapping. If $y \in K(\eta)$ solves the problem $GHVIP_{\xi}$, then $y \in K(\eta)$ solves the problem $GHVIP_F$.

Proof. Since $y \in K(\eta)$ solves the problem $\operatorname{GHVIP}_{\xi}$, we have

$$\left\langle T(y), \frac{xy}{\eta(x,y)} \right\rangle + \left\langle \xi, \eta(x,y) \right\rangle \ge 0$$

for all $x \in K(\eta)$. Since $F : K \to \mathbb{R}$ is nonsmooth ξ - η mapping on $K(\eta)$, for $y \in K(\eta)$ we have

$$F(x) - F(y) \ge \langle \xi, \eta(x, y) \rangle$$

for all $x \in K(\eta)$. Hence we have

$$\left\langle T(y), \frac{xy}{\eta(x,y)} \right\rangle + F(x) - F(y)$$

$$\geq \left\langle T(y), \frac{xy}{\eta(x,y)} \right\rangle + \left\langle \xi, \eta(x,y) \right\rangle$$

$$\geq 0$$

for all $x \in K(\eta)$. This means that $y \in K(\eta)$ solves the problem GHVIP_F . This completes the proof.

Acknowledgments: The authors are thankful to the learned referee for his/her deep observations.

References

- G.D. Anderson, M.K. Vamanamurthy and M. Vuorinen, Generalized convexity and inequalities, Jour. of Math. Anal. and Appl., 335 (2007), 1294–1308.
- [2] A. Behera and P.K. Das, Variational Inequality Problems in H-spaces, International Jour. of Math. and Math. Sci., (2006) Article ID 78545, 1–18.
- [3] P.K. Das and S.K. Mohanta, Generalized VVIP, Generalized VCP in Hilbert Spaces, Riemannian n-Manifold, Sⁿ and Ordered Topological Vector Spaces: A Study using Fixed Point Theorem and Homotopy Function, Advances in Nonli. Vari. Inequal., 12(2) (2009), 37–47.
- [4] M.A. Hanson, On Sufficiency of the Kuhn-Tucker Conditions, Jour. of Math. Anal. and Appl., 80 (1981), 545–550.
- [5] I. Insan, Hermite-Hadamard type inequalities for harmonically convex functions, Hacettepe Jour. of Math. and Stat., 43(6) (2014), 935–942.
- [6] M.A. Noor, Variational Inequalitie and Applications, Lecture Notes, COMSATS Institute of Information Technology, Islamabad, Pakistan, 2008-2016.
- [7] M.A. Noor and K.I. Noor, *Harmonic variational inequalities*, Appl. Math. and Inform. Sci., 10(5) (2016), 10–14.
- [8] M. Parida, S. Chand and C. Das, Harmonic convex and generalized convex fuzzy mappings, Advances in Fuzzy Sets and Sys., 13(1) (2012), 13–30.
- [9] M. Parida, S. Chand and P.K. Das, On Generalized Ratio H-incavity in Mathematical Programming, Trans. on Math. Prog. and Appl., 4(2) (2016), 44–56.